


Mexquynaponnm
b Y nenb ammaumf

X -
“z;_




e
Pt Pa3m

T, . P aPnta . OB |

A

NHKa







Lo W ST A

¥ — T — L
Becenbin cyer
0 2+1+2=*% 51 *1=3 e,
> 1 ¥4*2=3 4*%2%3=35 5
N 5-3%2=4 D+3_*=4 R
S 3+2-1=+ [ +4%2=3 \

4+1%3=2 3*]1%]1=5 >

T e PP . BB ED = 4



5~ NMlaTeéMmaTUuqecknm
nehve




ﬂwmllﬁ'v“ YA



- | e B
l (X? (N® O%f’ %\-‘3

TpetTun NUWLHUN




b?)

4;{‘01;.'.

LR,
S

.
e—

PbiOoanka

wm Y Y 74

&' o

o



R e N R . S T

«CTPOMTenM»

¥

WodW. 4 | ."*(?W




e |
a

S

;

N

W

I ne nornka?

iR W VY T

o B
cN
L
=

‘I

&S\ | L) LY IR



[ ’ 4 -

’ . Ce - B _j\ - :
" - § : , R % L# ' : ! 5’" ] < 2

. MosgpaBnsiem!!!

s %0 BARD W .Y o X



